3.12 Unit 3 Test Review K_E\j MLA 3("5 -L= 30.

Directions: Solve for x. Then find the missing angle.
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Directions: Classify the trlangle by its angles. Direction: Classify the triangle by its sides.
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Directions: Determine if the triangles are congruent. If they are, justify your answer & write a triangle congruence
statement. ‘
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Directions: Determine the ITIIS§II’IE mformatlon needed to prove the triangles are congruent with the given theorem or
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11) Given that ACDE = AHIJ, CE = 5x, 12) What is the length of the longest side?

and HJ = 2x + 15, find x and CE. '
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13) What is the measure of the vertex angle in an 14) In an isosceles trianglg, a vertex angle measures 3x
isosceles triangle if a hase 2 and a base angle measures x. What is the measure
of each of the angles in the isosceles triangle?
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Directions: Determine if the following side lengths can be used to make a triangle. If they are, write the
from least to greatest and then the angles in order from least to greatest.
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18) Copy the segment and angle onto another piece
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L3 =24 O\ of paper. Then, bisect the segment and angle.
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Directions: Use the triangle midsegment theorem and the figure below to answer 19 — 22.

TWw 0 gk Ao rember W)

Q
P dtcmats
¥ i D) poratiel lined ¢ lok for At int or Covespnd .
' ‘ Dmidiigment (5§ e ngieor oy
7 Sille. (e muthily =y 2 or '°32')

\24\01‘ A

}19) ST @_‘122: - T 20) QR ||n-."z‘L'I
21) PU ﬁz =Tz ) ©22) mesur_ SST g '

(2sw-P8& LTSW- v
ALt nt L's. )




